Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 2 - Dunfermline North

5,388

3

1,348

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Michael BOYD	Scottish Labour Party	752
Gavin ELLIS	Scottish Conservative and Unionist	1,264
lan FERGUSON	Scottish National Party (SNP)	1,186
Fiona Elizabeth FISHER	Scottish National Party (SNP)	662
Mags HALL	Scottish Green Party	203
Bryn JONES	Scottish Liberal Democrats	458
Helen LAW	Scottish Labour Party	863
		Total F 200

Total 5,388

Transfers Report

This report contains the transfers results.

Stage 2 - Exclusion of Mags HALL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Michael BOYD	22	1.00000	22.00000
Transfer to Gavin ELLIS	10	1.00000	10.00000
Transfer to Ian FERGUSON	30	1.00000	30.00000
Transfer to Fiona Elizabeth FISHER	52	1.00000	52.00000
Transfer to Bryn JONES	45	1.00000	45.00000
Transfer to Helen LAW	17	1.00000	17.00000
Value of non-transferable ballot papers			27.00000
	Total		203.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Bryn JONES

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Michael BOYD	76	1.00000	76.00000
Transfer to Gavin ELLIS	158	1.00000	158.00000
Transfer to Ian FERGUSON	24	1.00000	24.00000
Transfer to Fiona Elizabeth FISHER	32	1.00000	32.00000
Transfer to Mags HALL	0	0.00000	0.00000
Transfer to Helen LAW	136	1.00000	136.00000
Value of non-transferable ballot papers			77.00000
	Total		503.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Surplus of Gavin ELLIS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Michael BOYD	346	0.05865	20.29290
Transfer to Gavin ELLIS	0	0.00000	0.00000
Transfer to Ian FERGUSON	35	0.05865	2.05275
Transfer to Fiona Elizabeth FISHER	16	0.05865	0.93840
Transfer to Mags HALL	0	0.00000	0.00000
Transfer to Bryn JONES	0	0.00000	0.00000
Transfer to Helen LAW	286	0.05865	16.77390
Value of non-transferable ballot papers			43.94205
	Total		84.00000

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Fiona Elizabeth FISHER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Michael BOYD	2	0.05865	0.11730
Transfer to Michael BOYD	23	1.00000	23.00000
Transfer to Gavin ELLIS	0	0.00000	0.00000
Transfer to Ian FERGUSON	7	0.05865	0.41055
Transfer to Ian FERGUSON	667	1.00000	667.00000
Transfer to Mags HALL	0	0.00000	0.00000
Transfer to Bryn JONES	0	0.00000	0.00000
Transfer to Helen LAW	1	0.05865	0.05865
Transfer to Helen LAW	21	1.00000	21.00000
Value of non-transferable ballot papers			35.35190
	Total		746.93840

Transfers Report

This report contains the transfers results.

Stage 6 - Surplus of Ian FERGUSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Michael BOYD	12	0.01724	0.20688
Transfer to Michael BOYD	344	0.29404	101.14976
Transfer to Gavin ELLIS	0	0.00000	0.00000
Transfer to Ian FERGUSON	0	0.00000	0.00000
Transfer to Fiona Elizabeth FISHER	0	0.00000	0.00000
Transfer to Mags HALL	0	0.00000	0.00000
Transfer to Bryn JONES	0	0.00000	0.00000
Transfer to Helen LAW	5	0.01724	0.08620
Transfer to Helen LAW	393	0.29404	115.55772
Value of non-transferable ballot papers			344.46274
	Total		561.46330

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Michael BOYD

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gavin ELLIS	0	0.00000	0.00000
Transfer to Ian FERGUSON	0	0.00000	0.00000
Transfer to Fiona Elizabeth FISHER	0	0.00000	0.00000
Transfer to Mags HALL	0	0.00000	0.00000
Transfer to Bryn JONES	0	0.00000	0.00000
Transfer to Helen LAW	11	0.01724	0.18964
Transfer to Helen LAW	241	0.05865	14.13465
Transfer to Helen LAW	271	0.29404	79.68484
Transfer to Helen LAW	708	1.00000	708.00000
Value of non-transferable ballot papers			192.75771
	Total		994.76684